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1. ARERZEMAIKR
(1) ARIFIRIRE

A 25/4 5 6 7 8 9 10 11 12 26/1 2 3 &t A
e () | 451.5 | 440.0 | 416.0 | 366.0 | 284.5 | 416.5 | 518.0 | 394.0 | 248.0 | 349.0 | 405.0 | 424.0 4712.5 393
K AB ) | 10,056 | 9,037 | 10,912 | 8,986 | 6,188 | 8,715 | 12,031 | 8,883 | 5,173 | 7,232 | 7,998 | 8,737 | 103,948 | 8,662
i
% | g PR | 405 | 25.0| 25.0| 170.0 | 83.5| 55.5| 125 | 119.5| 140.0 | 1L5| 20.0| 13.5 716.5 60
% UNEION 364 515 780 982 | 1,630 840 380 920 702 280 440 440 8,273 689
& A () 34 49 41 18 37 49 59 38 24 26 39 33 447 37
& | B AE(N) | 2,180 | 3,575 | 2,950 | 2,070 | 2,160 | 3,143 | 3,780 | 2,540 | 1,560 | 2,010 | 2,270 | 2,710 30,948 | 2,579
|
AT () 6 2 0 14 5 0 1 20 13 5 9 2 77 6
% UNEION 100 195 0 422 150 0 150 | 1,600 220 150 | 1,050 150 4,187 349
WE & | 2,104 | 2,083 | 2,211 | 2,088 | 1,922 | 1,987 | 2,308 | 2,168 | 1,925 | 2,374 | 1,698 | 2,148 25,016 2,085
B
| BDEASZ(B) | 1,208 | 1,131 | 1,249 | 1,111 | 1,065 | 1,085 | 1,353 | 1,335 | 1,034 | 1,046 989 | 1,243 13,849 1, 154
%
F H HEH) 896 952 962 977 857 902 955 833 891 | 1,328 709 905 11, 167 931
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T () AB (V) T () ABE (N | BEE B B A = (B/R)
o T ()
(&)
21 5,176.5 115, 103 507 36, 767 28,127 13,831 14, 296 9
22 5, 342 111, 892 542 40, 294 27,629 15,491 12,138 0
23 5,302.5 113, 005 547 40, 791 23,531 10, 481 13, 050 0
24 5,391.5 112, 136 518 39, 788 25,512 13,748 11,764 0
25 5,429 112, 221 524 35, 135 25,016 13, 849 11, 167 0
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